I.  Choose the proper vocabulary. 30%
1.  You should ___ the amount of sweets you eat every day.

A. trap  B. detect  C. pardon  D. reduce

2.  The fish ____ its eggs under a rock. 

A. solved  B. deposited  C. suggested  D. praised

3.  As ___ for being late, my teacher made me stay after class.

A. purpose  B. punishment  C. attempt  D. conflict

4.  Allen pushed me with so much ____ that I fell down.

A. duty  B. difficulty  C. gesture  D. force

5.  The meal was so _____ that I ate too much!

A. absent  B. tasty  C. primary  D. likely

6.  I hold my boss in high ____. She does a great job.

A. esteem  B. system  C. sample  D. topic

7.  This ___ of bird is only found in Taiwan.

A. advice  B. direction  C. species  D. emotion

8.  I had to ___ my homework because my first copy was very messy.

A. undo  B. rewrite  C. lose  D. give

9.  The plants are so green because there is a lot of ___ in this area.

A. rainfall  B. thunder  C. climate  D. temperature

10.  The exercise machine is great for your _____.

A. armchair  B. alarm  C. album  D. abdomen

11.  My bicycle is my main form of ____.

A. population  B. production  C. transportation  C. tradition

12.  We saw clowns and people marching in the ____.

A. parade  B. project  C. ticket  D. trade

13.  The people of the town ___ the new law because it was unfair.

A. protested  B. rushed  C. struck  D. avoided 

14.  The ____ promised the people he would lower taxes this year.

A. politician  B. interview  c. income  D. society 

15.  Our stove is not electric. It is run by ____ instead.

A. matter  B. liquid  C. solid  D. gas 
II.  Choose the correct answer. 30%

16.  The boys are ____. 

A. on upstairs  B. in upstairs  C. upstair  D. upstairs 

17.   ____ you insist, I will reconsider the matter.

A. Since  B. But  C. When  D. For

18.  I like ____ you do for me.

A. who  B. which  C. that  D. whatever

19.  On the bus I saw a student ____ I thought was your brother.

A. whom  B. who  C. what  D. whomever

20.  She knelt down before him, with tears ___ down her face.

A. streaming  B. to streaming  C. stream  D. streamed

21.  The boy stood _____ at the sight of blood.

A. horrified  B. horrible  C. to horrify  D. horrifying

22.  Would you please ___ the listening comprehension script until after you 

   have listened to the tape?

A. not to read  B. not read  C. don’t read  D. don’t to read

23.  The streets are all wet. It ____ during the night.

A. must be raining  B. must have been rain  C. had to rain  

D. must have rained

24.  If he ___ in a day or two, I would wait for him.

       A. will return  B. returns  C. were to return  D. had returned

25.  Anna didn’t like our new roommate, and ______.

       A. I don’t too  B. neither I did  C. neither did I  D. I didn’t also

26.  At the gate ______.

       A. waiting the beggar  B. waited the beggar  C. the beggar waiting  

       D. did the beggar wait

27.  I think Alice’s ___ than unfriendly.

       A. shy  B. shyer  C. more shy  D. more shy rather

28.  I don’t take John’s pen because I don’t like _____.

       A. that pen of his  B. that his pen  C. his that pen  D. that pen of him

29.  Mary’s miniskirt is indeed ____ in the picture.

       A. eye-caught  B. eye-catching  C. catching-eye  D. eyes-catching

30.  We beat the team ___ five points.

       A. with  B. for  C. over  D. by
III.  Choose the word that fits each numbered blank. 20%

      (31)  most socialists, who believed in progress by peaceful evolution, Marx believed the transition from capitalism to communism would follow a particular pattern and would be accompanied by a violent revolution. Communist theoreticians have  (32)  this process in four stages.

        The  (33)  stage is marked by the workers’ overthrow of capitalism and is followed by their seizure of the government.

        The second stage is characterized by the establishment of a dictatorship of the proletariat. A centralized authority is necessary  (34)  the majority of workers are not capable of ruling; direction by a small group of intelligent leaders—the Communist party—is required. Under the dictatorship, destruction of the capitalist class is completed and society is reorganized along socialist lines, with private ownership and profit abolished. The state  (35)  owns and operates the means of production.

        In the third stage, the dictatorship of the proletariat is replaced  (36)  the establishment of a “socialist” society. The political state still exists, and,  (37)  there may still be opposition, it has considerable power; economic production,  (38)  , is controlled by the workers.  (39)  production is still limited, output and payment are “from each according to his ability, to each according to his work.”
        The fourth and highest stage is that of the true “communistic” society. Production is in such abundance that work and payment are made “from each according to his ability, to each according to his need.” The political state is no longer necessary  (40)  there is no longer any antagonism between classes. Administrators are needed, however, to supervise industrial complexes.

31.  A. Next  B. Means  C. Unlike  D. Conversely

32.  A. similarly  B. classified  C. on one hand  D. hence
33.  A. first  B. in short  C. for instance  D. too

34.  A. on the whole  B. consequently  C. because  D. evidently
35.  A. in fact  B. to illustrate  C. same as  D. now

36.  A. through  B. can be defined as  C. type  D. on one hand

37.  A. to illustrate  B. because  C. to summarize  D. as demonstrated

38.  A. although  B. during  C. because  D. however

39.  A. Because  B. Shortly  C. The same as  D. Various elements

   40.  A. also  B. may be due to  C. because  D. can be defined as
IV.  Reading comprehension. 20%

        The agricultural revolution in the nineteenth century involved two things: the invention of labor-saving machinery and the development of scientific agriculture. Labor-saving machinery naturally appeared first where labor was

scarce. “In Europe,” said Thomas Jefferson, “the object is to make the most of
    their land, labor being abundant; here it is to make the most of our labor, land being abundant.” It was in the United States, therefore, that the great advances in nineteenth-century agricultural machinery first came.

        At the opening of the century, with the exception of a crude plow, farmers could have carried practically all of the existing agricultural implements on their   backs; by 1860, most of the machinery in use today had been designed in an early form. The most important of the early inventions was the iron plow. As early as 1790 Charles Newbold of New Jersey had been working on the idea of a cast-iron plow and spent his entire fortune in introducing his invention. The farmers, however, were not interested in it, claiming that the iron poisoned the soil and made the weeds grow. Nevertheless, many people devoted their attention to the plow, until in 1869 James Oliver of South Bend, Indiana, turned out the first chilled-steel plow.
   41.  What is the main topic of the passage?

        A. The need for agricultural advances to help feed a growing population

        B. The development of safer machines demanded by the labor movement

        C. Machinery that contributed to the agricultural revolution
        D. New Jersey as a leader in the agricultural revolution

   42.  The word “naturally” in line 3 is closest in meaning to

        A. unsurprisingly

        B. gradually

        C. apparently

        D. safely

   43.  The expression “make the most of” in line 4 is closest in meaning to

        A. get the best yield from

        B. raise the price of

        C. exaggerate the worth of

        D. earn a living on

   44.  Which of the following can be inferred from what Thomas Jefferson said (lines 4-6)?

        A. Europe was changing most quickly than the United States.
B. Europe had greater need of farm machinery than the United States did.
        C. The United States was finally running out of good farmland.

        D. There was a shortage of workers on United States farms.

   45.  The word “here” in line 5 refers to

        A. Europe

        B. United States

        C. New Jersey

        D. Indiana
   46.  What point is the author making by stating that farmers could carry nearly all their tools on their backs?
        A. Farmers had few tools before the agricultural revolution.

       B. People in the United States were traditionally self-reliant.

       C. Life on the farm was extremely difficult.

       D. New tools were designed to be portable.

  47.  When was the iron plow invented?

       A. In 1790
       B. In the early 1800’s

       C. In 1869

       D. In the early 1900’s

  48.  According to the passage, which of the following statements about Charles

Newbold is true?

A. He was James Oliver’s assistant.

       B. He was born in Europe.

       C. He was opposed to scientific agriculture.

       D. He spent his own money to promote his invention.

  49.  The word “it” in line 14 refers to
       A. scientific agriculture

       B. James Oliver’s invention

       C. the cast-iron plow

       D. Charles Newbold’s fortune

  50.  Why did farmers reject Newbold’s plow?

       A. Their horses were frightened by it.

       B. They preferred lighter tools.

       C. It was too expensive.

       D. They thought it would ruin the land.

Answer Sheet:
I. Choose the proper vocabulary. 30%  
1.  ( D )  2.  ( B )  3.  ( B )  4.  ( D )  5.  ( B ) 
6.  ( A )  7.  ( C )  8.  ( B )  9.  ( A )  10.  ( D ) 

11.  (C )  12.  ( A )  13.  ( A )  14.  ( A )  15.  ( D )  
II.  Choose the correct answer. 30%  

16.  ( D )  17.  ( A )  18.  ( D )  19.  ( B )  20.  ( A )  

21.  ( A )  22.  ( B )  23.  ( D )  24.  ( C )  25.  ( C )
26.  ( B )  27.  ( C )  28.  ( A )  29.  ( B )  30.  ( D )
III.  Choose the word that fits each numbered blank. 20%  

31.  ( C )  32.  ( B )  33.  ( A )  34.  ( C )  35.  ( D )  
36.  ( A )  37.  ( B )  38.  ( D )  39.  ( A )  40.  ( C )
IV.  Reading comprehension. 20%   

41.  ( C )  42.  ( A )  43.  ( A )  44.  ( D )  45.  ( B )  

46.  ( A )  47.  ( A )  48.  ( D )  49.  ( C )  50.  ( D ) 
